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1. With reference to the Parliament of India,
consider the following statements :

1. A private member’s bill is a bill
presented by a Member of Parliament
who is not elected but only nominated
by the President of India.

24 Recently, a private member’s bill has
been passed in the Parliament of India
for the first time in its history.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(c) Both1and?2

I(d) Neither 1 nor 2 |

2.  With reference to the difference between the
culture of Rigvedic Aryans and Indus Valley
people, which of the following statements
is/are correct ?

1. Rigvedic Aryans used the coat of mail
and helmet in warfare whereas the
people of Indus Valley Civilization did
not leave any evidence of using them.

2 Rigvedic Aryans knew gold, silver and
copper whereas Indus Valley people
knew only copper and iron.

3.  Rigvedic Aryans"had domesticated the
horse whereas there is no evidence of
Indus Valley people having been aware
of this animal. '

Select the correct answer using the code given

below :

(a) 1 only

(b) 2 and 3 only

[ () 1 and3 only |

(d) 1,2and3

AMC-U-BKLP
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(3-A)

‘Recognition of Prior Learning Scheme’ is
sometimes ' mentioned in the news with
reference to

(a) Certiiying the skills
construction workers
traditional channels.

acquired by
through

(b)

Enrolling the persons in Universities for
distance learning programmes.
Reserving some skilled jobs to rural and
urban poor in some public sector
undertakings. :
Certifying the skills acquired by
trainees under the National Skill
Development Programme.

(c)

(@)

From the ecological point of view, which one
of the following assumes importance in being
a good link between the Eastern Ghats and
the Western Ghats ?

L(a) _ Sathyamangalam Tiger Reserve|

(b) Nallamala Forest
(¢) Nagarhole National Park
(d) Seshachalam Biosphere Reserve

One of the implications of equality in society
is the absence of

fa) Privileges |
(b)  Restraints
(¢) Competition
(d) Ideology

Consider the following statements in respect
of Trade Related Analysis of Fauna and Flora
in Commerce (TRAFFIC) :

1. TRAFFIC is a bureau under United
Nations Environment Programme
(UNEP).

2. The mission of TRAFFIC is to ensure
that trade in wild plants and animals is
not a threat to the conservation of
nature.

Which of the above statements is/are correct ?
{a) 1only

(c) Bothland?2

(d) Neither 1 nor 2
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7. Which principle among the following was
added to the Directive Principles of State
Policy by the 42°¢ Amendment to the
Constitution ?

(a) Equal pay for equal work for both men
and women '

(b) Participation of workers in the
management of industries

(¢) Right to work, education and public
assistance -

(d) Securing living wage and human
conditions of work to workers

8. . Which one of the following statements is
correct ?

(a) Rights are claims of the State against
the citizens.

(b) Rights are privileges which are
incorporated in the Constitution of a
State.

(¢) Rights are claims of the citizens against
the State.

(d) Rights are privileges of a few citizens
against the many.

9.  Which of the following gives ‘Global Gender
Gap Index’ ranking to the countries of the
world ? _ : :
[(a)  World Economic Forum |
(b) UN Human Rights Council
(¢) TUN Women Y5
(d) . World Health Organization

10. Which of the following statements is/are
correct regarding Smart India Hackathon
2017 ? '

1 It is a centrally sponsored scheme for
developing every city of our country into
Smart Cities in a decade.

2. It is an initiative to identify new digital
technology innovations for solving the
many problems faced by our country.

3. It is a programme aimed at making all

' the financial transactions in our country
completely digital in a decade.

Select the correct answer using the code given

below :

(a) 1and 3 only

[(b)  Zonly |

(¢) 3only

(d) 2and3only

AMC-U-BKLP (5-
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13.

A)

Which of the following statements is/are
correct regarding the Monetary Policy
Committee (MPC) ? ;

1. It decides the RBI's benchmark interest

 rates.

2. It is a 12-member body including the
Governor of RBI and is reconstituted
every year.

3. It functions under the chairmanship of
the Union Finance Minister.

Select the correct answer using the code given
below :

(b) 1and 2 only
(¢) 3only
(d) 2 and3only

Sankirtana,
consider the following statements :

With reference to Manipuri

1. It is a song and dance performance.

2. Cymbals are the only musical
instruments used in the performance.

3. I’f, is performed to narrate the life and
deeds of Lord Krishna.

Which of the statements given above is/are
correct ?

(a) 1,2and3
and o only

(c)
(d)

2 and 3 only
1 only

Who among the following was/were associated
with the introduction of Ryotwari Settlement
in India during the British rule ?

1. Lord Cornwallis

2.  Alexander Read

3. Thomas Munro

a

Select the correct answer using.the code given
below :

(a) 1only

(b) 1 and 3only
¢) 2and3only
(d) 1,2and3
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In the context of solving pollution problems,
what is/are the advantage/advantages of
bioremediation technique ?

1. It is a technique for cleaning up pollution
by enhancing the same biodegradation
process that occurs in nature.

2. Any contaminant with heavy metals such
as cadmium and lead can be readily and
completely treated by bioremediation
using microorganisms,

3. Genetic engineering can be used to create
microorganisms specifically designed for
bioremediation.

Select the correct answer using the code given

below :

(a)
(b)

1 only

2 and 3 only

[0 Tand 3only |
d 1,2and3

The Trade Disputes Act of' 1929 provided for
(a)

the participation of workers in the
management of industries. '
arbitrary powers to the management to
quell industrial disputes.

an intervention by the British Court in
the event of a trade dispute.

(b)

(c)

(d)

a system of tribunals and a ban on
strikes.

Local self-government can be best explained
as an exercise in

(a) Federalism )

emocratic decentraisation
Admimstrative delegation
Direct democracy

(c)
(d)

Consider the following statements :

With reference to the Constitution of India,
the Directive Principles of State Policy
constitute limitations upon

1 legislative function.

2. executive function.

Which of the above statements is/are correct ?
(a) 1only

(b) 2 only

(¢c) Both1and?2
|{d) Neither Il nor2 |

(7

18.

19.

20.

A)

The term ‘Digital Siﬁgle Market Strategy’
seen in the news refers to

(a) ASEAN

(b) BRICS
¢c) EU

(d G20

At one of the places in India, if you stand on
the seashore and watch the sea, you will find
that the sea water recedes from the shore line
a few kilometres and comes back to the shore,
twice a day, and you can actually walk on the
sea floor when the water recedes. This unique
phenomenon is seen at

(a) Bhavnagar

(b) Bheemunipatnam
¢) Chandipur

(d) Nagapattinam

With reference to the ‘Prohibition of Benami
Property Transactions Act, 1988 (PBPT Act),
consider the following statements :

1. A property transaction is not treated as
a benami transaction if the owner of the
property is not aware of the transaction.

2. Properties held benami are liable for
confiscation by the Government.

3. The Act provides for three authorities
for investigations but does not provide
for any appellate mechanism.

Which of the statements givén above is/are
correct ?

(a)
[ (b)
(c)
(d)

1 only

2 only |

1 and 3 only
2 and 3 only
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21. Due to some reasons, if there is a huge fall in
the population of species of butterflies, what
could be its likely consequence/consequences ?
1. Pollination of some plants could be

adversely affected.

" 8. There could be a drastic increase in the
fungal infections of some cultivated
plants.

3. It could lead to a fall in the population
of some species of wasps, spiders and
birds.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2 and 3 only

¢) land3only

(d 1,2and3

22. It is possible to produce algae based biofuels,
but what is/are the likely limitation(s) of
developing countries in promoting this
industry ?

1. Production of algae based biofuels is
possible in seas only and not on
continents.

2 Setting: up and engineering the algae
based biofuel production requires high
level of expertise/technology until the
construction is completed.

3. Economically viable production
necessitates the setting up of large scale
facilities which may raise ecological and |
social concerns.

Seiect the correct answer using the code given

below :

(a) 1and2only

| (b)) Zand 3 only |

(¢) 3only

(d 1,2and3

AMC-U-BKLP
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24,

25,

(9-A)

C 1 and 3 only
(d) 1,2and3

Which of the following are the objectives of
‘National Nutrition Mission’ ?
1. To create awareness relating to
* malnutrition among pregnant women
and lactating mothers.
2. To reduce the incidence of anaemia
among young children, adolescent girls
and women.

3. To promote the consumptioh of millets,
coarse cereals and unpolished rice.
4. To promote the consumption of poultry

eggs.
Select the correct answer using the code given
below :

[(a 1and2only |
(b) 1,2 and 3 only
(¢) 1,2 and4 only
(d) 3and4only

Consider the following statements :

1. The Factories Act, 1881 was passed
with a view to fix the wages of
industrial workers and to allow the
workers to form trade unions.

2. - N.M. Lokhande was a pioneer in

" organizing the labour movement in
" British India.
Which of the above statements is/are correct ?

(a) 1only

{(b) Z2only |

(¢) Both1land2
(d) Neither 1 nor 2

In the context of mitigating the impending
global warming due to anthropogenic
emissions of carbon dioxide, which of the
following can be the potential sites for carbon
sequestration ? ; '

1. Abandoned and uneconomic coal seams

2. Depleted oil and gas reservoirs
3. Subterranean deep saline formations

Select the correct answer using the code given
below :

"(a) 1and2only
(b) 3only
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(b) WRA & Wshedl A6 W 6t wirat fFfvea
T |

(¢) TSCaEl Y8 W HAGswaeen IRfE
FHET |

(d) 9Rd TR ue oot el & i gy
YT | ,

Hfi-ft gorerl 4 e v ae Ste s

EFFHAT (SMfes Foe ) ug

gay frea 8 2 ,

(a) BAR ¥ #H GR wifth Ieuteq w1 fawE &
q -

(b) TR 2w ¥ foeeft & .t et w amla
TEH A | :

(c) BHR A9 ¥ W IUE P 3= @ H
fafdsE @

(@) feesht fren weenett =i gaR oW o I
giter wenfia s 1 erwfa 3 &

frfafaa wo W fEm Hif

1. T g fenaded, @gw U &
qeeEgHE § IEfts §9 4 fhu I 8 |

2. forEsfm wmiEi w FaUgE ¥
TSR qTATY] ot AT 1 Th 37
2 :

ITE HYET H W HIA-AA HE B/ 2
(a) had 1 '

(b) had 2

(c) 13T 2gMl

@ Ta1IE2

29. ﬁm%ﬁaaﬁﬁﬁqug‘hﬁ‘mmnaﬁmpsﬁ -

30,

31,

(10-A)

afeiferd & Teha1 8 2

(a) <hae FHam are Tmies

(b) had 218 55T H Y F ARE

(¢) TSI OGhRi & @t wd=rl, s gefaa
T g@R g sfgE e s A
arfiE & e dar § S §

(d) I gl gHd g GUhR & aufi wr=,

W1 1318, 2004 AT IGF 91¢ Gared
T 8

e 7@ F vy d, Fefifed sl w =R

Hfow

1. e T w1 I AEl R S SEIYS R
wfer e fufeers & g st ®

2. @ Hi whn R d A 3 o
Tg e TG <l U W A4 B |

3. offedr 99, WRa U Sperey @b He W
e < @ ° o e

9 el § A PHAA T R 2

(a) “haw 131 3

(b) hae 2

(c) “had 23 3

(d) 1,23W3

frafafaa st w faem fifse ;| _

1. Swrhfese yeu H, e @ U S
AR |

9. SYeRT TS U =1 SAfeh G=ROT BAT EYE
4 .

39 oAl B A BH-A7E TE R 2

(a) Had 1

(b) I 2

() 13 23Hl

(d T A2
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26. The object of the Butler Committee of 1927 | 29.
was to
(a) Define the jurisdiction of the Central
and Provincial Governments.
(b) Define the powers of the Secretary of
State for India.
(¢) Impose censorship on national press.
Td)  Improve the Telationsnip DETWEEH e
Government of India and the Indian
States.
: 30.
27. The term ‘Domestic Content Requirement’ is
sometimes seen in the news with reference
to
(a) Developing solar power production In
our country
(b) Granting licences to foreign T.V.
channels in our country
(¢) Exporting our food products to other
countries
(d) Permitting foreign educational
institutions to set up their campuses in
our country '
28. Consider the following statements :
Al The Nuclear Security Summits are
periodically held under the aegis of the | g7,
United Nations.
2, The International Panel on Fissile
Materials is an organ of International
Atomic Energy Agency.
Which of the statements given above is/are
correct ?
(a) 1only
(b) 2only
(¢) Bothland2
(d) - Neither 1 nor 2
AMC-U-BKLP (11=A)

Who among the following can join the

National Pension System (NPS) ?

(a) Resident Indian citizens only

(b) Persons of age from 21 to 55 only

(c)  All State Government employees joining

i the services after the date of notification
by the respective State Governments

(d) All Central Government employees
including those of Armed Forces joining
the services on or after 15¢ April, 2004

With reference to river Teesta, consider the

following statements :

1 The source of river Teesta is the same
as that of Brahmaputra but it flows
through Sikkim.

2. River Rangeet originates in Sikkim and
it is a tributary of river Teesta.

3. River Teesta flows into Bay of Bengal on
the border of India and Bangladesh.

Which of the statements given above is/are

correct 7

(a) 1and3only

(b) 2 only

(e) - 2and 3 only

(d 1,2and3

Consider the following statements :

L In tropical regions, Zika virus disease is

~ transmitted by the same mosquito that
transmits dengue.

2 Sexual transmission of Zika virus
disease is possible.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2 only

[c0 Both1land?2 |

(d)

Neither 1 nor 2
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33.

34,

AMC-U-BKLP

1. HE A b TRl o el ¥
W W U (BIS) ®1 AW fug
i 8 |

2. AGMARK, @RI U8 Y T34 (FAO) g
SR Weh Turen sETo foE @ |

Iueh el H W A we 24

(a) oHdad 1 .

(b) had 2

(¢) 13 28Mi

(d 9d@ L8 2

‘el BN STHAR (TS Gisheat drehe)’ whig

I foparfaa = % Fo1 Ty 272 2

L 7@ P aegAl & fw wdauwrda
SCToRITeh ST et 2 |

2. W& FuH & foau uwerdt awwr geaw
wUar & 88 3% A S uEn
&Y Fiad fuerdt 2 |

e Tow 7T e 1 W e wE I g

(a) had 1

(b) A 2

(¢) 13T 22t

(@ AAL AT 2

T WMgE e sftmr AR Gwee

Feciagere W9l Usgm witert)’ % w7,

Fr=fafaa i gt fomm St .

1. I8 < faei uSier 3 TRIPS THeiy &
uf wra < gfaegar # Aawar 2 |

2. freifes Aifd st dadw fvm wwa
Sifge e st & fafemm % fm,
e AR (Tedt woh) B |

I FUA H ¥ HIA-H/E T B/ 2

(a) Had 1

(b) had 2

(¢) 13 22Mi

(d) a1, T8 2

35.

36.

37.

(12-A)

st (gean) siffem, 1972 % omEw, frd
=t g, fafY g fepu o wfay syedl &
I g & faan, Fefafes § & s
yroft &1 R 777 SR s g 2

1. ufsara

2. O Sret e

3. SHTElt 9|

1 fau e e 1 v IR ghi
(a) ohad 1

(b) hael 237 3

(¢) oo 137 3

(d 1,233

Frafafigs set § @ SEmA ady T

% TS el 5 fov F g 22 0

1. ¥ ®aAl &l vEfdd oE F U w
faumht afsrer & 1€ 2 |

2. 3 faftre el & wry g e §

=t fow e e w1 T A wE I gh

(a) ohad 1

(b) hae 2

(¢ 13 2gHT

(d) Ad L TEH2

Frfafea gt w fmm hife .
1. TYUTehd ed —
fofesr sfeem whiftiosm & wem sremy
2. TNg A&y 9E — '
HEIH HETSH 49T o HEAT9h
3. GlgAy §aell
- 3feem vEfiuem % Hxemges

St gt § @ A wd gt 3 o

(a) Had 1

(b) hast 131 3
(¢) “had 237 3
(d) 1,233
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32. Consider the following statements :

1. - The Standard Mark of Bureau of Indian
Standards (BIS) is mandatory for
automotive tyres and tubes.

2. AGMARK is a quality Certification
Mark issued by the Food and
Agriculture Organisation (FAQO).

Which of the statements given above is/are

correct ?

[(& Tonly |

(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2

33. What is/are the advantage/advantages of
implementing the ‘National Agriculture

Market’ scheme ?

1. It is a pan-India electronic trading portal

for agricultural commodities.

2. It provides the farmers access to

nationwide  market, with . prices
_commensurate with the quality of their
produce.

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

[0 BothTandZ |

(d) Neither 1 nor 2

34. With reference to the ‘National Intellectual

Property Rights Policy’, consider the following

statements :

1. It reiterates India’s commitment to the
Doha Development Agenda and the
TRIPS Agreement.

2.  Department of Industrial Policy and
Promotion is the nodal agency for
regulating intellectual property rights
‘in India.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

fc) _Bothland2 |

(d) Neither 1 nor 2

AMC-U-BKLP

35.

36.

37.

F1B—A

According to the Wildlife (Protection) Act,
1972, which of the following animals cannot
be hunted by any person except under some
provisions provided by law 7

1, Gharial

24 Indian wild ass

3. Wild buffalo

Select the correct answer using the code given
below :

(a) 1only

(b) 2 and 3 only

(¢) 1and 3 only
@ 1,2and3 |

Which of the following statements is/are true

of the Fundamental Duties of an Indian

citizen ?

1. A legislative process has been provided
to enforce these duties.

2. They are correlative to legal duties.

Select the correct answer using the code given
below :

(a)
(b)
(e)
[ (d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2|

Consider the following pairs :

1. Radhakanta Deb —
First President of the British Indian
Association

2. Gazulu Lakshminarasu Chetty —
Founder of the Madras Mahajana
Sabha

3. Surendranath Banerjee —

Founder of the Indian Association
Which of the above pairs is/are correctly
matched ?

(a)
[(b)

(c)

(d)-

1 only

1 and 3 only| .

2 and 3 only
1,2and 3
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38.

ffirfaa R d A T T 9YRE F
dfaum 1 v & afafase 787 2 0
(a) fomm 6 e

(b e wEE

39.

40,

AMC-

(¢) afieafes & wazar
(@) fawamm 6 wazar

SR T uiwg QD % wed d,

f=feriiga somt o famm g

1.  QCIH T4, YRA HTHR U1 WA 32
T HYh ®9 A foram mar o |

2. QCI¥ siey i fghs, e g wwh
H H TR wGE W, 9HE G g H
Sl R |

S oAl A W FH-AVA T AR 2
(a.) Fad 1 '

(b) had 2

(¢) 13 23M

@ Fdr1,TE2

yd @Y faa Sl (SFBs) @l eifia w6t &
FT YIS 8 2

1. <Y SAGEM $HIFA! ! o1 il I wen
2. Y 3R HWHIa FhT I F01 T Yf FE

3. a1 safiE ot 9wa: arfior &5 F samr
TTfya s % T dieatfea e

= U 7T He w1 T B EE I g
(2) Hae 130K 2 ”
(b) e 230 3

(c) <hael 1311 3

d 1,233

U-BKLP

41.

42,

43.

(14-A)

‘FEmE IR wEh foww w ufen e
ufFeiE e (APMCHUD), % gy #
Freafafea weat w fomm Hifto .

1. Y99 APMCHUD ¥Rd ® 2006 # 49«
gal, foaeht fwar Swa weht wv — Hifa
wfafskemd i smee deeaT o |

2. YRa oft aiffes Afeady a@adt 6
HSle!, ADB, APEC 3 ASEAN #i
T & L @ |

ITfea HUEl § W HEAYE gE e 2

(a) Had 1

(b) had 2

(c) 13IR 28!

(d d@M1L,T8 2

T H ISP 0 U8 2 5 am i

EEIGIRS

() womor geet o whems 6 iy ok
It = |

(b) FRYAS Aged H GRS dren
ggfat =t |

(c) wieefieran 3t gEfiar & g9 ©F S&w
=fed &l |

(d) wafda gefta Frfhatet & us g i |

THFAT  PIAH - g (FFEwe T

T<%d/UPL)’ & sEffm w1 § ke &

| formes 8 61 waifire dureyar R 2

(a) TSR YAl & foly Aiese awie
AR T& & |

(b) ST & R H Il @ie s ggr 6
o fefea ggr & ot |

(c) FDI 3fqarg & 9t gfg gt |

(@ Tdv =afeqal +1 SugHl (FfeEs) w1
gouE Al (SR gEWw()  Wgd
THTERRT & S |
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38. Which one of the following objectives is not
embodied in the Preamble to the Constitution
of India ?

(a) Liberty of thought

(b)  Economic liberty

(¢) Liberty of expression

(d) Liberty of belief

39. With reference to ‘Quality Council of India
(QCIY, consider the following statements :

1. QCI was set up jointly by the
Government of India and the Indian
Industry.

2. Chairman of QCI is appointed by the
Prime Minister on the recommendations
of the industry to the Government.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

40. What is the purpose of setting up of Small
Finance Ba_nks (SFBs) in India ?

1. To supply credit to small business units

2. To supply credit to small and marginal
farmers

3. To encourage young éntrepreneurs to
set up business particularly in rural
areas.

. Select the correct answer using the code given
below :
. |(a) 1 and 2 onlyl
(b) 2and 3 only
(¢) 1and 3 only
‘(@ 1,2and3
AMC-U-BKLP

41.

42,

43.

(16-A)

With reference to ‘Asia Pacific Ministerial
Conference on Housing and Urban
Developlﬁent (APMCHUDY, consider the
following statemerits : s

1. The first APMCHUD was held in
India in 2006 on the theme ‘Emerging
Urban Forms — Policy Responses and
Governance Structure’.

2. India hosts all the Annual Ministerial
Conferences in partnership with ADB,
APEC and ASEAN.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2only

(¢) Both1 a\nd 2
(d)

Neither 1 nor 2 |

Democracy’s superior virtue lies in the fact
that it calls into activity

(a) the intelligence and character of

ordinary men and women.

(b) the methods for strengthening executive

leadership.

(¢) a superior individual with dynamism
and vision.

(d) aband of dedicated party workers.

Which of the following is a most likely
consequence of implementing the ‘Unified
Payments Interface (UPI)’ ?

(a) Mobile wallets will not be necessary for

online payments.

(b)  Digital currency will totally replace the

physical currency in about two decades.
(¢) FDI inflows will drastically increase.

(d)

Direct transfer of subsidies to poor
people will become very effective.
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44,

45.

wwmwﬁwé&ﬁmqﬁﬁW,

‘f@wfmﬂ’aﬂt‘éﬁéw@a’ﬁﬁw o

Hee & a1 & 2

(a) STENUS <1 Y&UT 37T Ay

(b) Td 3R I TRV I e

(¢) T T HeTl H IWIET T TATTH

@ gt wm Sfifgm Sfel i sl ek
ShuferRTE

WG § HY & T #, T gETERl § W ar |
S sghrr (S deefE)’ S aeie

:mwﬁwﬁﬁﬁawmﬁn%mmm

46,

()

AMC-U-BKLP

52

1. fafim wacht 9l § W afety st g@n
afgwpdr &% foru omgafis gEeR @
- 3fm W & fae Sfiim emgRer =
ST o ST Hepa B |

2. UR dbieh, HHC WYl At 73 fHe
fohRfta ot o o 9T TS WA
T T HeE ! |

3. . SHebI WM, HEAl § QIO gt
TaHgH % forg fopam ST wehar B |

= feu T e @1 Wi woad I g

(a) aﬁﬁl

(b) “hae 2 3R 3

(c) %ﬁlﬁlaﬂ'{s

@ 1,233

mm%wwmm%%%
(a) HEUfe 3R faummves a1 @ &9
q HE 8 |

7z fifa & e wem =@ 2 o s
fereh 28 R |

FHRIerRt, faumTves : 91%{ Ieerh
&F{TTGHT%I

THR F ey % fakm & o 8
AT ST Hehal |

(e)

(d)

47,

48.

49.

50.

(16-A)

WA o HeH H, ﬁmﬁf@aﬁ@ﬁ?maﬁm

3R oAl & o9 98 g9y 2 2
(a) Sl wdedl % @y ge-aalta § |

(b) rferh =aferamTa & 37 WA iR oAl
¥ @ad 2 |

() ek & =affaed & fawm & fog
iR, 7 o ded, Tl § |

(d) m%@nﬁa%%q,aﬁw,qﬁﬁ
AfEhR, TEwEY § |

o % wfauE % Fufared @ ma frffaa 3
Y forod wfafafeq gar 8 2
(a) IefrE

(b)) T YFR

(©) T &l Aifd % Fewe T
(d) qA FHasT ‘

gfq 31mg $ifear A wigay < I GSH AW o
Fd &, a1 SAYh! g TYH R ey TYH
firetTept W o 31t HH-Y-hY fehaq TSl ° @
IR ST BT 2

(a) 6
(b) 7
() 8
(d) 9
a1 wHg fopeeh /fpas g wfmfeg &
Fel o FW R T @ 2

1. T T

2. ¥ A

3. IETH T

e e Tu e 1 wEm W wE I A
(a) %h'clﬂl,

(b) haw 2 37 3

(¢) ohaer 13 3

(@ 1,233
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The terms ‘Event Horizon’, ‘Singularity’,

44,

‘String Theory’ and ‘Standard Model’ are

sometimes seen in the news in the context of

(a) Observation and understanding of the
Universe

(b)  Study of the solar and the lunar eclipses

(¢) Placing satellites in the orbit of the
Earth

(d) Origin and evolution of living organisms
on the Earth

45. With reference to agriculture in India, how
can the technique of ‘genome sequencing’,
often seen in the news, be used in the
immediate future ?

1. Genome sequencing can be used to
identify genetic markers for disease
resistance and drought tolerance in
various crop plants.

2.  This techniqué helps in reducing the
time required to develop new varieties
of crop plants.

3. It can be wused to decipher the
host-pathogen relationships in crops.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 and 3 only

{(¢) 1land 3only

(d 1,2and3

46. The main advantage of the parliamentary
form of government is that

(a) the executive and Jegislature work
independently.

(b) it provides continuity of policy and is
more efficient.

{¢c) the executive remains responsible to the
legislature.

(d) the head of the government cannot be
changed without election.

AMC-U-BKLP

47.

48.

49.

50.

(17=A)

In the context of India, which one of the
following is the correct relationship between
Rights and Duties ?

(a) Rights are correlative with Duties.

(b) Rights are personal and hence
independent of society and Duties.

(¢) 'Rights, not Duties, are important for
the advancement of the personality of
the citizen.

(d) Duties, not Rights, are important for
the stability of the State.

The mind of the makers of the Constitution of

India is reflected in which of the following ?

fa) The Preamble]

(b) The Fundamental Rights

(¢) The Directive Principles of State Policy

(d) The Fundamental Duties

If you travel by road from Kohiﬁla to

Kottayam, what is the minimum number of

States within India through which you can

travel, including the origin and the

destination ?

(a) 6

() 8

d 9

The Parliament of India exercises control over

the functions of the Council of Ministers
through

1. Adjournment motion
2, Question hour

3. Supplementary questions

Select the correct answer using the code given
below :

(a) 1only

(b) 2 and 3 only
(¢) 1land3only
I(d) 1,2and 3
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51..

52.

~ 53.

AMC-U-BKLP

ﬁmﬁ—rﬁaﬁ 4 ¥ HHA1 TF FehdE U9 #
SfogEyul Tgg-u o1 2
(a) HIfPATST

(b) Higueeol
(c) HDEATEAH (Fgefiuem)

(d) TS

“pieefia Seary giEdd afy (eiee Femsie

=% weme) % ey #, Fefafas seei 4

H ®-ardE wd B3 2

1. I8 [T 59 i U5 2 |

2. ¥g &gl fawmsfiier 2o & s
faspra fifqal ok st 4 ey afedw
% U By aehAlehl wE facha wamEr
W& AT 2 |

3. THH wH=E fova @€eR WU (WRID)
AR i fawm ¥g fava =mm afisg
(WBCSD) grT e e 2 |

1l 13w 1T e 1 3 R aE W g

(a) haet 13 2

(b) e 3

() HadA 233

(d) 1,23 3

WRA o aiie sfage o weed A, frefefea
FHoH T fomm e

1. HEfae iR wfErdy S e % gnem

|

2. waikqaed it wa off fF gfEmy
(Feifir) < steea quia: aifoep & €,
g sreaaa w9 # w39 faamH & § |

[ SRS TR o

(a) a1
(b) et 2
(¢) 13 28MT
(d) Ad 1,98 2

54.

55.

56.

(18 -A)

gw,ﬁn&f@aﬁﬁfﬁ&aﬁﬁsﬁm
4

1. Sigd

2. ¥

3. WM

4. #if@n

= feu U e =T = wE s gh
(a) T 1,231 3

(b) HaeT 231 3

(¢) had 33N 4

(d) %ad 1,33 4

Tdt few ofR smEEE Gy % ey |
frfafga womt 4 @ S8 a8 32 2
1. =g Hfifd (NITD) 7= &1 U 377 2 |

I T 3T HUH T 4,00,000 FUE 2 |

ﬂ%ﬁqm%wmw@ﬁ?gﬁq
(a) Had 1

(b) <hadl 2
(¢) 13T 2eH
(d 9d 1,782

qEY STl glaen (Wi SHRgER
PR
(@ URET § SeEET % IFE H ﬁ‘m'
ASEAN 1 39sH0 8, 51 URETE e
gﬁﬁmﬁqﬂqw(ﬁﬁz)ﬁﬁﬂﬁﬁa
|

(b) TETHM &3 o geurr fEwenl &
ﬁﬁwwwaﬁ%mﬁwaﬁ
eI, W Aed  STgEEHl
wrﬁﬂiwrﬁ wyrfigifEi  (PPPs) <
Frt St wre-Fmior 6 gt s § |
(e) OECD%maﬁr&mﬁawﬁﬁﬁaagg@
ol T WA @, S I FEEEAT
qﬁwﬁ@%ﬁﬁa%@m%ﬁa%
o et fafEw duda s@ 6
q9dr 8 |
(d) UNCTAD gri foadifoa 3uspamr & 51 fave
A e & fTEE % faaoifte +=
3R Goht S <h1 TITE el 2 |




52.

53.

AMC-U-BKLP

Saasuns
Which one of the following was a very
important seaport in the Kakatiya kingdom ?
(a) Kakinada
mh_ .
(¢) Machilipatnam (Masulipatnam)
(d)

Nelluru

With reference to ‘Global Climate Change
Alliance’, which of the following statements
is/are correct?

1. Itis an initiative of the European Union.

2. It provides technical and financial

support to targeted developing countries

- to integrate climate change into their
development policies and budgets. -

3. It is coordinated by World Resources
Institute (WRI) and World Business
Council for Sustainable Development
(WBCSD).

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 2 only

3 only
2 and 3 only
1,2 and 3

With reference to the religious history of
India, consider the following statements :

1. Sautrantika and Sammitiya were the
sects of Jainism.

> 8 Sarvastivadin held that the constituents
of phenomena were not wholly
momentary, but existed forever in a
latent form.

Which of the statements given above is/are
correct ?

(a) 1only
(¢) Both1and?2
(d) Neither 1 nor 2

54,

55.

56.

(19-A)

¥

Mediterranean Sea is a border of which of the:
following countries ?

1 Jordan
2. Traq

3. Lebanon
4, Syria

Select the correct answer using the code given
below :

(a) 1,2 and 3 only

(b) 2 and 3 only
L) 3and4only |
(d) 1,3 and 4 only

With reference to ‘National Investment and
Infrastructure Fund’, which of the following
statements is/are correct ?

1. It is an organ of NITI Aayog.

2. It has a corpus of ¥ 4,00,000 crore at
' present.

Select the correct answer using the code given
below : '

(a) 1lonly

(b) 2only

(¢) Both1land2
[(d)  Neither 1 nor2 |

The Global Infrastructure Facility is a/an
(a) ASEAN initiative to upgrade
infrastructure in Asia and financed by

credit from the Asian Development
Bank.

(b) World Bank  collaboration  that
facilitates  the  preparation and
structuring of complex infrastructure
Public-Private Partnerships (PPPs) to
enable mobilization of private sector

and institutional investor capital.

(¢) Collaboration among the major banks of
the world working with the OECD and
focused on expanding the set of
infrastructure projects that have the
potential to mobilize private

investment.
UNCTAD funded initiative that seeks to

finance and facilitate infrastructure
development, in the world.

(d)
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57. aﬁaw%ﬁahq%%qw &)

58.

(a) ¥R H famm w0 9 et oft safe g
giflaet fopam ST wepar B |

(b) T fratem &= § fatem o s 8, @&t
&+ ot frameht gro aflgsr fopen s oaan
g

ui & TRt e gmn, et 9w et
fatem &3 it magagEh 4 2, qfew
oo 1 Eehat 2 |

ya & fopet ot 9o g afasr fean
T HehelT 2 |

(e)

(d)

Frefafigs wori w fomm Hif

1. 9Rd 4, e sew o= o # S
BT |

2. ufgedl =R shae Wi TS F %A U
g | |

3. :J,T%me_?ﬁ?-{?mqma}rmﬁﬁﬂo—cﬁgﬁ%ll

sl e AR Tl A 0

(a) Hae 137 2
(b) Had 3
(c) Had 237 3

(d) ee 13K 3

59.

AMC-U-BKLP

ﬁaa:nm:ﬂmm (BOD) fohgsr foiq wsh wien

HIIEE 8 2

(a) T H AT TR A & foig

(b) aF uRfeafas o= # sriefiee @l %
FaftrreH & g

() Wwﬁ@ﬁadﬁﬁ@m%ml-

% foru
) I T &5 ATl T % STeeH
% form

60. SFR TR wiasy i fown # wrRa GyF U

61.

(20-A)

HEHN H HYFd U YITaTH (UN-Habitat)

g & gl A, Fafafes i & 3

SIT-HVE T B8 2

1. HYW TS WEEW h gl HIH U
qHfarE S fREm wm R fR a®
amTih Td gatefly gfe @ uwofila @
Heal 3R W& 1 waftia o adt @
T A1 Y Hd 8l |

2. % ueien e aw o el TR
ftreRtor & # |

3. TFF U Wiaw, gUEd 99 WA o
H B & folU Gy TS HawT & THY
eI A FATR |

H= & T e T R wE I g

(a) 1,23M 3

(b) e 133 -

(c) had 237 3

(d) had 1

UE B AT FHEE (NSQF) & g #,
frafafaa wemt # 4 w1/ 98 378 2
1. NSQF % i\, fuaneff wewar =

TS hael Sitaeies e % Hiew
Bl TS T Fehdl B |

2. NSQF % e+ 1 U geanfya iy

;Iwﬁ%aﬂiamﬁﬁm%mﬁw
l

e fou T e = wRoad sw i

(a) a1

(b) “had 2

(¢ 1R 28t

(d) Tdr1,TE2



57. For election to the Lok Sabha, a nomination | 60.
paper can be filed by

(a) anyone residing in India.

(b) a resident of the constituency from
which the election is to be contested.

(¢) any citizen of India whose name
appears in the electoral roll of a
constituency.

(d) any citizen of India.

58. Consider the following statements :

L In India, the Himalayé.s are spread over
five States only.

2 Western Ghats are spread over five

" States only.

3. Pulicat Lake is spread over two States
only.

Which of the statements hgiven above is/are

correct ?

(a) 1and2only 61.

b) 3only

(¢) 2and3only

(d) 1and 3 only

59. Biological Oxygen Demand (BOD) is a
standard criterion for

(a) Measuring oxygen levels in blood

(b) Computing oxygen levels in forest
ecosystems

(¢) Pollution assay in aquatic ecosystems

(d) Assessing oxygen levels in high altitude
regions

AMC-U-BKLP (21-A)

QREMAGMNG IAS

With reference to the role of UN-Habitat in
the United Nations programme working
towards a better urban future, which of the
statements is/are correct ?

1. UN-Habitat has been mandated by the
United Nations General 'Assembly to
promote socially and environmentally
sustainable towns and cities to provide
adequate shelter for all.

2 Its partners are either governments or
local urban authorities only.

3. UN-Habitat contributes to the overall
objective of the United Nations system
to reduce poverty and to promote access
to safe drinking water and basic
sanitation.

Select the correct answer using the code given
below ;

(a) 1,2and3

(b) 1and 3 only

(c) 2and3only

(d) 1lonly

With reference to ‘National Skills

Qualification Framework (NSQF), which of
the statements given below is/are correct ?

1.  Under NSQF, a learner can acquire the

_certification for competency only
through formal learning.

2.  An outcome expected from the
implementation of NSQF is the mobility
between  vocational and  general
education. :

Select the correct answer using the code given
below :

(a) 1only
(b) 2 only
(¢) Both1land2

(d) Neither 1 nor 2
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62.

63.

ml‘rﬂ??f sfoere % w=d i‘f I ier

(sraammshi)’ fergra fomdr fafdse ahean 2 2

(a) o faurmvea = 3 get d R |

(b) @ TR, ufd HEE AR T TR
I Y& fohar o |

(© < UMHUGEI, Th T o I gEy
feght & & |

(d) 9=l ® JeEEid fdt & e yant
fayrsm |

Seer i afde’ & aey § fefafas st

wt fomm Sifs -

i #mamﬁtﬁﬁ'mﬁmamu%w
TqumT, YRT TFHR, T TH ITHAT & |

2. JAvFd wie widg = Tw ¥ abifim
ga13ti % U AR & AT’ & Haeq +
oI fiem & w9 d sty forem mom 2

Wmﬁﬁﬁqmﬁwﬁ%@? |

 (a) had 1

"(c)

64.

© {e)

AMC-

(b) had 2

13 2 gt

d Ad@1,9d2

frfafiad oAl @ @ s g & 3 gamEm
H e ‘qereyed gl % amofRr w@eEs
ugli (Whin B g, e % v
THIH/S4A)’ 1 Hallepse FU HTaT 8 2

(a) ﬁmmﬁaﬁaﬁmmﬁ

i mitfeafafis Hmal w far w0 6
TG ® |
(b) B TRATGH HigATZdl HI HHAT HL @
FE N ghedl F foxiy @ET +
g % fon e fod §% 6 =i
g1
TE HET WEGh & TR % SR
gr i fafas a2

(d) I8 THR g 7T & 7 Fraf=a Sateas

ggﬁwaﬂeﬂﬁg’wqaan‘a’a@ma
2 |

U-BKLP

65.

66.

67.

(22-A)

ffafaa weai w foem i . -
1. ITETSl Ty YENeR W FEfiga
2q SICATg Ud W9 91 TesHH (CCAC),

G20 Y8 % <1 h! Teh IR Uged @ |
2. CCAC #%, Hem FE4 Td
BISGIFTHATUHTEA] T higd T @ |
w@mmﬂﬁ%aﬁqmﬁaﬁ%?
(a) <had 1
(b) Had 2
(¢) 13 22!
(d) T 1,982

AR AFHA 1 QA i 0 St

Tl § 3fglea Sfesm ofivm erde dony

% wed H, fmfafegs wwmi 4 @

SH-AVE FE /8 2 |

1. 10D uitwedl, Iweplessy ufyedt fig
HEEPR  Ud  IwrRiesd  qdf  wera
HETHNT. < e HFR-JS3 AT9HH & 37t 9
forifa et 2 |

2. 10D TREEAT HIET T UA-AA % ST h
gHTfad L Hehdl B |

Iﬂ%ﬁQW%Wmmaﬁmgﬁt{:

(a) had 1

‘(b) HaA 2

(¢) 13 2eH!
(d Fd 1,982

afg o9 afears w1 6 URpfe A
T =TRd 8, o Fefofaa § ¥ e R W
ST T T R 2

(a) Tyarssiies A2

(b) =Tese T

(c) E%‘IEEEﬁT'f

(d) i s
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62. In the context of Indian history, the principle | 65. Consider the following statements :

AMC-U-BKLP

of ‘Dyarchy (diarchy) refers to
(a) Division of the central legislature into
two houses.

* (b) Introduction of double government i.e.,
Central and State governments.

(¢) Having two sets of rulers; one in London
and another in Delhi.

(d) Division of the subjects delegated to the
provinces into two categories.

Consider the following in respect of ‘National

Career Service’ :

1. National Career Service is an initiative
of the Department of Personnel and
Training, Government of India.

2. National Career Service has been
launched in a Mission Mode to improve
the employment opportunities to
uneducated youth of the country.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢c) Bothland?2
(d) Neither 1 nor 2

Which of the following statements best
describes the term ‘Scheme for Sustainable
Structuring of Stressed Assets (S4A), recently
seen in the news ?

(a) It is a procedure for considering

ecological costs of developmental
schemes formulated by the Government.

1 Climate and Clean Air Coalition

« (CCAC) to Reduce Short Lived Climate

Pollutants is a unique initiative of G20
group of countries.

2 The CCAC focuses on methane, black
carbon and hydrofluorocarbons.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢c) Bothland?2
(d) Neither 1 nor 2

With reference to ‘Indian Ocean Dipole (IOD)
sometimes mentioned in the news while
forecasting Indian monsoon, which of the
following statements is/are correct ?

1. 10D phenomenoh is characterised by a
difference in sea surface temperature
between tropical Western Indian Ocean
and tropical Eastern Pacific Ocean.

2. An 10D phenomenon can influence an
El Nino’s impact on the monsoon.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2 only

(b) It is a scheme of RBI for reworking the
financial structure of big corporate
entities facing genuine difficulties.

(¢) It is a disinvestment plan of the
Government regarding Central Public
Sector Undertakings.

(d) It is an important provision in ‘The
Insolvency and Bankruptcy Code’
recently  implemented by the
Government.

(23-A)

(¢) Both1land2
(d) Neither 1 nor 2

If you want to see gharials in their natural
habitat, which one of the following is the best
place to visit ? !

(a) Bhitarkanika Mangroves

b) Chambal River
(¢)  Pulicat Lake
(d) Deepor Beel
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68. feg wemrm idfe dfwers (Reaiform) |71, Fefafen gl & @ s 3R § o=
(IONS) % ®oie # feifcifien w fomm sfifo . | wiewor & wamn ¢ gebdl 37 2
1. wief (39hRe) IONS wwd # 2015 # 1 9 A A A I S
Wl AT <l Sreaerar & gaum o | 2. wd¥H e % qd e w5 v
2. IONS U @ifes® vgd & o fig HaremR 3. AT AR @d H @ @ o
&7 ¥ Tgaead dul (wem) H Adad =t 4" T e 1 AT H W I P -
% o T HedNT ) TG =T8T © | (a) ohae 13N 2
Iwled oAl § | HH-A/A T 3 0 (b) %9 3
(c) had 13K 3
(a) o 1 @ 1,23W3
(b) had 2 '
oy vl ol 72. T=fefad weAl © e Hifse .

(@ AR LIAR2 : H1S Th)’ 1 329 B
1. fofed St & % fawar & |

2. HE UET % HAUR W R # for se

69. e yenuitr <1 fag waiftes ufig ek gﬁ%%ﬁﬂm%mﬁﬁaﬁﬁ

T g, o . 3.t ft § sl % wf-sw 8 e
(a) IFEErHE ST ol # A - T 3 2
(b) ag'p:ﬁﬁ% (a) had 13 2
. ®) I3
@ mﬁ? | (c) hadt 23R 3
(@ TEwH R _ @ 1,233
73. TAmfafigs gmi v famm Hifsw .
70. fr=fafga g0 w fem fif . AT JgFT] IR 9 S drt
TR e g WW?’% ST
1. =fee wifgs sea - e e recc o
2. AMUAT@AT - TS @ L fus 0 - @
3. AR — T 2. sfiaet ¥ _  wrfifa ety A
s fu o gl @ HRwd v gk 3. WA B BT - BHIETEE e
/8 ? SR fom M ogwE ¥ ¥ wAmA T g
(a) e 1 B3 7
(b) et 231 3 (a) z:lam
- (b) e 23R 3
(© e 13fs (c) “hael 1301 3
(d) 3T & | HIg T @ 1,233

AMC-U-BKLP (24-A)
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68.
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Consider the following in respect of Indian
Ocean Naval Symposium (IONS) :

1. Inaugural IONS was held in India in
2015 under the chairmanship of the
Indian Navy.

2 IONS is. a voluntary initiative that

seeks to increase maritime co-operation
among navies of the littoral states of the
Indian Ocean Region.

Which of the above statements is/are correct ?

(a) ° 1only

(b) - 2 only
(¢) Both1land2
(dj Neither 1 nor 2

69. The painting of Bodhisattva Padmapani is
one of the most famous and oft-illustrated
paintings at

‘I (a) Ajanta
(b) Badami
(¢) Bagh
(d) Ellora

70. Consider the following pairs :

Traditions Communities
1.  Chaliha Sahib Festival — Sindhis
2.  Nanda Raj Jaat Yatra — Gonds
3.  Wari-Warkari — Santhals
Which of the pairs given above is/are correctly
matched ?
(a) 1onl
(b) 2and 3 only
(¢) 1and 3 only
(d) None of the above
AMC-U-BKLP -

71.

72.

73.

(25-A)

Which of the following practices can help in
water conservation in agriculture ?

1. Reduced or zero tillage of the land

2.  Applying gypsum before irrigating the
field

3.  Allowing crop residue to remain in the
field

Select.the correct answer using the code given
below : :

(a) 1land2only
(b) 3only

{c) 1land3only |
(d 1,2and3

Consider the following statements :

The nation-wide ‘Soil Health Card Scheme’
aims at

1. expanding the cultivable area under
irrigation.

2. enabling the banks to assess the
quantum of loans to be granted to
farmers on the basis of soil quality.

3. checking the overuse of fertilizers in

' farmlands.

Which of the above statements 1s/are correct ?

(a) 1and 2only
(c) 2and 3 only
(d) 1,2and3

Consider the following pairs :

Unwanted or
controversial
chemicals likely to
be found in them

Commonly used /
consumed materials

Lipstick — Lead
9. Soft drinks —  Brominated
vegetable oils
3. Chinese —  Monosodium
fast food glutamate

Which of the pairs given above is/are correctly
matched ?
(a) 1lonly
(b) 2 and 3 only
(¢) 1 and 3 only
[@ 1,2and3]
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75.

FE YR Seasl SEE (3T o
Tfifén grEts/OLED) %1 394N §gd & deEt
T orhg wey (fsfoew ferwt) wfifa =@ &
fe fopa S 2 | g fobeee wewit it ger #
OLED ez {8 Yo aTvehit & ?

1. OLED We3i 99 Wt . 3/ eql W
Hfatfra fope ST |ehd 2 |
2. OLED & WM ¥, a& # IAq.curfiq

SufeeaT ves (Tee-em feot) sam
T R 2 | . :

3. OLED % YaI ¥, yresfl weui &va € |
= fau e e F R R ad S g
Had 131 3 :

e 2

1,23R 3

S HYAl 0 F IS oft Tl T ]

(a)
(b)
(c)

(d)

ﬁmﬁﬁaﬁﬁﬁq—m@qﬁﬁ%ﬁ%m
foream 272 2

1. 3FREdg!

2.  AWHeH
3. ST
= o e e &1y o wd I g

& e

AMC-

(b) had 23T 3
(¢) Had 13M 3
(d) 1,233

U-BKLP |

76. T=fefga suAi w famm hifse

7.

1. <% 99T 3gdl s bl faud 991 %
frates 4, Sfied ae 3eflear = faffEd
miya fpe 99 % fore, fpu @ gagE @
w80 50 gieea amr e 2 |

2. WA % dioum # orfiesfim Iuedi &
FIER, W% | § AAG F UG TgAA
I T H ST 8 AT IUTEAY N UE
feraer =6 ST 2

e oAl § A w1 2R 0
(a) had 1

(b) A 2

(¢) 13T 23Fi

(d Ad 1,782

Frafofed § § FREA TR F 1991 3 i

Hifoei % et % ag ufea gen/Rn ¥R 2
1. GDPH HfY &l 379 Fgq €9 & 95 T |

2. Tava =R ¥ wra & fafa =1 9w W%
R |

. FDI I 3{qdig (3791) 9 T4 |

4. 9a w1 fagsh fafme wer geq w9 @
qE T |

= feu 7 e 1 = W A s g

(a) hael 13N 4

(b) HaAA 2,33 4

(¢) A 231 3
d 1,2 334

78. IR I =i icwor Tenfiht (\ifees

(26-A)

B TR g SHETN) B S R
27

(a) a-femymmeft &1 3T

(b) -l wnfees w1 i

(e) agaﬁaﬁlm-ﬂaa?«hﬁn

(d) T g a1 Iedred
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74. Organic Light Emitting Diodes (OLEDs) are
used to create digital display in many devices.
What are the advantages of OLED displays
over Liquid Crystal displays ?

1. OLED displays can be fabricated on
flexible plastic substrates.

2.  Roll-up displays embedded in clothing
can be made using OLEDs.

8- Transparent displays are possible using
OLEDs.

Select the correct answer using the code given

below :

(a) 1land 3only

(b) 2only

¢) 1,2and3

(d) None of the above statements is
correct

75. Which of the following is/are famous for Sun
temples ?

14 Arasavalli
2. Amarakantak
3. Omkareshwar
Select the correct answer using the code given
below :
(a) 1only
(b) 2 and 3 only
(c) 1and 3only
(d 1,2and3
AMC-U-BKLP

76.

7.

78.

(27-A)

Consider the following statements :

1. In the election for Lok Sabha or State
Assembly, the winning candidate must
get at least 50 percent of the votes
polled, to be declared elected.

2. According to the provisions laid down in
the Constitution of India, in Lok Sabha,
the Speaker’s post goes to the majority.
party and the Deputy Speaker’s to the
Opposition.

Which of the statements given above is/are

correct ?

(a) 1only
(b) 2only
(¢) Both 1 and 2

d) Neither 1 nor 2

Which of the following has/have occurred in
India after its liberalization of economic
policies in 1991 ?

1. Share of agriculture in GDP increased

enormously.

2. Share of India’s exports in world trade
increased.

3. FDI inflows increased.

4, India’s foreign exchange reserves

increased enormously.

Select the correct answer using the codes
given below :

(a) 1and4only
{p) 2,3 and4only|
(¢) 2and3only
(d 1,2,3and4

What is the application of Somatic Cell
Nuclear Transfer Technology ?

(a) Production of biolarvicides

(b) Manufacture of biodegradable plastics
(¢) Reproductive cloning of animals
(d) Production of organisms free of diseases
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81.
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1. 9 U yae i (Fvea iem
HARYH ATF 3fa/NPCI) o 7 Tl
TUEYA % Hada ¥ TgEdar i g |

2. NPCIH U&% %8 Y- ¥hiH RuPay YiH
$1 7 | '

Iugad Hol H B BT/ G AR 2

(a) a1

(b) HaS 2

() 13 23H

(@ JTd@LAE2

‘M-STrIPES’ %o il wmm=mi o foa
g T 2@l Ja1 B ?

(a) o= WIURSTTd b1 g Tt

(b) ST TN H TG

(c) TSt Iuug feeemem vomedt

(d) TR TSET hl gRE

‘g T Hel U (g Ug wfdos de/GsT)

% foranfa fape o @/ waifus gwrfaa ey

1 8/ 7

1. 9% YRd ¥ Sg-iehon grn age fehe S
@ 95 HU I TUHE AT AN FH THR
Thel TSR €1 T |

9. Ug UNE & T Wi 9’ S yEerdr o
%9 S 3Hh f4eft gg1 wvsw & FgH B
3 HEH A |

3. 98 WRd I Adogewer I wafg @R
3TN ! 983 ¥4 § Feram i 38 fee
afgss § <7 A am a9 A

ST |
= ST 7T e T H HE IW AT
(a) oad 1
(b) “hae 2 3N 3
(c) oA 13K 3
(d 1,23MW3

82,

84,

(28-A)

UMY R R fEw R
(e ¢ U gowedic UWhie/BTIA)
Fftwdft ToER § uwa ot fefaRes 4 @
fora s % o9 aaia & T § @ wea
22 '

(a) @Cﬁuw

(b) @St weAm ufwg

(c) 3Mfefer T IR faehr Emed

(d) STETS HEANT EISA

frafafaa s = o= Fifse .
1. 9Rd ¥ WTO % MR g 59 & HR
(TFA) &1 e forem & |

2. TFA, WTO % Tefl Afata s 2013
1 TF 9T 7 | ‘

3. TFA,Sadt 2016 ¥ Fa 537 |

IRfFd YA H ¥ PH-AV/E TE B2 ?
(a) ohael 1 3R 2

(b) haw 131K 3

(¢) “had 23R 3

(d) 1,23M 3

T g Ae@R §euNg faefdd o &1 &40

wEd 8 ? |

(a) 3ThhT SWT | WRA & =a9R # 79N gl
gl |

(b) T-ITCH 3T W & IRA 6 TaY G346
B |

(c) ITEMEAH 3 qea TR 4 g % fog
HId 1 ITfeheaT W s 7187 g v |

(d) UIFEE, T$ IR 9YRd & o 19
TEYATE 1 GEATH g smem 3R
- 3Gl AT BT |
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79. Consider the following statements :
1. National Payments Corporation of India
~(NPCT) helps in promoting the financial
inclusion in the country.

o NPCI has launched RuPay, a card

payment scheme.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

[c) Bothland?2 |

(d) Neither 1 nor 2

80. The term ‘M-STrIPES’ is sometimes seen in
the news in the context of

(a) Canptive breeding of Wild Fauna

Ib) Maintenance of Tiger Reserves |

(¢) Indigenous Satellite Navigation System

(d) Security of National Highways

81, What is/are the most likely advantages of
implementing ‘Goods and Services Tax

(GST)y ?

1. It will replace multiple taxes collected by
multiple authorities and will thus create a
single market in India.

2. It will drastically reduce the ‘Current
Account Deficit’ of India and will enable it
to increase its foreign exchange reserves.

3. It will enormously increase the growth
and size of economy of India and will
enable it to overtake China in the near
future.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2and 3 only

(¢) 1land3only

(d) 1,2and3

AMC-U-BKLP

82.

83.

84,

(29-A)

‘Broad-based Trade and Investment
Agreement (BTIA) is sometimes seen in the
news in the context of negotiations held

between India and

(a)

European Union

(b)  Gulf Cooperation Council

(¢) Organization for Economic Cooperation
and Development
(d)

Shanghai Cooperation Organization

Consider the following statements :

1. India has ratified the Trade Facilitation
Agreement (TFA) of WTO.

2. TFA is a part of WTO’s Bali Ministerial
Package of 2013.

3. TFA came into force in January 2016.

Which of the statements given above is/are

correct ?

a) 1and 2 only

(b) 1and3only

(¢) 2and3only

(d) 1,2and3

What is the importance of developing
Chabahar Port by India ?

(a)

India’s trade with African countries will

enormously increase.

(b) India’s relations with oil-producing

Arab countries will be strengthened.

(¢) India will not depend on Pakistan for

access to Afghanistan and Central Asia.

(d) Pakistan will facilitate and protect the
installation of a gas pipeline between

Iraq and India.
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WRG H, WER e wewell W e
frefafes § @ fres /s fm fafim:
sfergeTers 28 ?

1 |l erar (Hidg Sargst)

9. Tadw |

3. wuRe fem (ardt HEne)

= fyg ¢ e #1 A Fad W g
(a) a1 '

(b) <had 13 2

(¢) a3

@ 1,233

Wi ¥ HaTieer 3R faifad g9 1 siften
(a) HA AfHR 3

(b) afifs stferrr 2

(¢) wHaurfie U 8

@ fafers aferepm 2
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89.
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T TggrEl % o9 Gga #1 JEaE w
100% HT&TET T AT |

(b) = forenm wemsti & T@HE @EET 9

Stre e gxfua drenfich & mem &

fereprr Y gt <kt T fokam 5 W |

A ol ok 3R Wenfies wifda a9
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85. In India, it is legally mandatory for which of
the following to report on cyber security
incidents ?

1. Service providers
2. Data centres
3. Body corporate
Select the correct answer using the code given
below :
(a) 1lonly
(b) 1and2only
(c) 3only
d 1,2and3

86. Right to vote and to be elected in India is a
(a) Fundamental Right
(b) Natural Right
(¢) Constitutional Right
(d) Legal Right

87. What is the purpose of ‘evolved Laser
Interferometer ~ Space Antenna (eLISA)
project ?

(a) To detect neutrinos

(b) To detect gravitational waves

() To detect the effectiveness of missile
defence system

(d) To study the effect of solar flares on our
communication systems

AMC-U-BKLP

88.

89.

(31-A)

What is the purpose of ‘Vidyanjali Yojana’ ?

1. To the famous . foreign
educational institutions to open their
campuses in India.

enable

2. To increase the quality of education

provided in government schools by

~ taking help from the private sector and
the community.

3. To encourage voluntary monetary
contributions from private individuals
and organizations so as to improve the
infrastructure facilities for primary and
secondary schools.

Select the correct answer using the code. given
below :

(a) 2only |
(b) 3only

(cj 1 and 2 only
(d) 2and 3 only

What is the aim of the programme “Unnat
Bharat Abhiyan’ ?

(a) Achieving 100% literacy by promoting
collaboration between
organizations and
education system

communities.

voluntary
government’s

and local

Connecting institutions of higher
education with local communities to
address development challenges
through appropriate technologies.

(b)

(c) Stfeng‘thening India’s scientific research
institutions in order to make India a

scientific and technological power.

(d) Developing human capital by allocating
special funds for health care and

education of rural and urban poor, and

organizing skill development
programmes and vocational training for
them.
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91.

2. W W g WAOE, AW Y@ 3K
I9-gAEl dEi % fou g wRimn @
HT 8 |

3. Pl s arr T A
favrem /oo & gafta foare fagem 2 |

3G HAH § W BV HE B/ 2
(a) e 13 2

(b) oA 2

(c) =had 2 ¥R 3

(d) T 3

9yrd #d, Ak wge H s Tfd R a=sig
(=reqn) srfafem, 1972 1 EET 1% 3rld
wifera =fya form mn A, d gues fAfgard s
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(a) Y GV T 98 T U § S R A
Eall
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@ 78 < 8§ 3w (b) 3 (o) G W § |

92.

93.

94.

(32—-A)
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(b)
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(a) 1-2-3 :

(b) 2-1-3

(c) 3-2-1

(d 8-1-2
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ITYFd HUA d T BA-E/A qE 2R 2
(a) o 1 |

(b) HadA 2

(¢) 13 22Mi

(d Td 1,982
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MREIMAGINING!Aﬁ
90. Consider the following statements :

: 3 The Election Commission of India is a
five-member body.

2. Union Ministry of Home Affairs decides
the election schedule for the conduct of
both general elections and bye-elections.

3. Election Commission resolves the-
disputes relating to splits/mergers of
recognised political parties.

Which of the statements given above is/are

correct ?

(a) 1and 2 only

(b) 2 only

(¢) 2and 3 only

(d) 3 only

91. In India, if a species of tortoise is declared
protected under Schedule I of the Wildlife

(Protection) Act, 1972, what does it imply ?

(a) It enjoys the same level of protection as
the tiger.

(b) It no longer exists in the wild, a few
individuals are  under  captive
protection; and now it is impossible to
prevent its extinction.

(¢) It is endemic to a particular region of |
India.

(d) Both (b) and (c) stated above are correct
in this context.

AMC-U-BKLP

92.

93.

94.

(38 -A)

In India, Judicial Review implies

(a) the power of the Judiciary to pronounce
upon the constitutionality of laws and

executive orders.

(b) the power of the Judiciary to question
the wisdom of the laws enacted by the

Legislatures.

the power of the Judiciary to review all
the legislative enactments before they

(e).
are assented to by the President.

the power of the Judiciary to review its
own judgements given earlier in similar

(d)
or different cases.

With reference to Indian freedom struggle,
consider the following events :

1. Mutiny in Royal Indian Navy
2, Quit India Movement launched

3! Second Round Table Conference

What is the correct chronological sequence of
the above events ?

(a) 1-2-3
(b) 2-1-3
(¢) 3-2-1
(d) 3-1-2

Consider the following statements :

1. Tax revenue as a percent of GDP of
India has steadily increased in the last
decade.

2 Fiscal deficit as a percent of GDP of
India has steadily increased in the last
decade.

Which of the statements given above is/are
correct ?

(a) 1only

(b)  2only

(¢) Both 1 and 2
(d) Neither 1 nor 2
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96.

97.
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95. Recently there was a proposal to translocate
some of the lions from their natural habitat in
Gujarat to which one of the following sites ?
(a) Corbett National Park .

(b)  Kuno Palpur Wildlife Sanctuary
(¢) Mudumalai Wildlife Sanctuary
(d) Sariska National Park

96. Which of the following are not necessarily the
consequences of the proclamation of the
President’s rule in a State ?

1. Dissolution of the State Legislative
Assembly

2. Removal of the Council of Ministers in
the State

3. Dissolution of the local bodies

Select the correct answer using the code given

below :

(a) 1and?2only

[ 1and3only |

(¢) 2and3only

(d 1,2and3

97. Which of the following are envisaged by the
Right against Exploitation in the Constitution
of India ?

1 Prohibition of traffic in human beings -
and forced labour
2.  Abolition of untouchability
3, Protection of the interests of minorities
4. Prohibition of employment of children in
" factories and mines
Select the correct answer using the code given
below :
(a) 1,2and4only -
(b) 2,3 and 4 only
(¢) 1and4only
d 1,2,3and4
AMC-U-BKLP
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99.

100.

(35-A)

Which of the following is geographically
closest to Great Nicobar ?

(b)

(a) Sumatra
(b) Borneo

() Java

(d) SriLanka

Out of the following statements, choose the
one that brings out the principle underlying
the Cabinet form of Government :

(a) An arrangement for minimizing the
criticism against the Government whose
responsibilities are complex and hard to

carry out to the satisfaction of all.

A mechanism for 'speeding up the
activities of the Government whose
responsibilities are increasing day by
day.

A  mechanism of parliamentary
democracy for ensuring collective
responsibility of the Government to the

neanle

(c)

(d) A device for strengthening the hands of
the head of the Government -whose hold

over the people is in a state of decline.

Which one of the following is not a feature of
Indian federalism ?

(a) There is an independent judiciary in
India.

(b) Powers have been clearly divided
between the Centre and the States.

(¢) The federating units have been given
unequal representation in the Rajya
Sabha.

(d) It is the result of an agreement among

the federating units.
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